
Description Dimensions

11 x 
Balustrade Spindles 100% FSC in Charcoal, 

Coffee or Grey 955mm x 50mm x 30mm

1 x  1.155m post with cap 1155mm x 70mm x 70mm
1 x  Balustrade Handrails (26 x Tbrackets, screws 1730mm x 45mm x 45mm

1 x 
Baseplate and Bolts (4 x M8x80 Screws For 

Baseplate to Post) 130mm x 130mm x 10mm

1 x Baseplate Skirt 130mm x 130mm x 21mm
2 x 983mm Insert N/A
2 x 55mm Insert N/A

1 x 1.155m Insert N/A

Description Dimensions

11 x 
Balustrade Spindles 100% FSC in Charcoal, 

Coffee or Grey 1000mm x 50mm x 30mm

1 x  1.2m post with cap 1200mm x 70mm x 70mm
1 x 1.155m post with cap 1155mm x 70mm x 70mm

KIT-B2-CHCL/COFF/LGRY
1 x 

 Balustrade Handrails (26 x Angled Tbrackets, 
screws and relevant inserts in place) 1730mm x 45mm x 45mm

2 x 
Baseplate and Bolts (4 x M8x80 Screws For 

Baseplate to Post) 130mm x 130mm x 10mm

2 x Baseplate Skirt 130mm x 130mm x 21mm
2 x 983mm Insert N/A
2 x 55mm Insert N/A
2 x 1.2m Insert N/A

Components in the kit

(Bolts to fix baseplates to whatever 
the Fence is standing on will need to 

be sourced yourselves)

KIT-B1-CHCL/COFF/LGRY

1.73m x 1.1m Balustrade Kit with 
1.155m post, baseplate and skirt

Components in the kit

1.73m x 1.1m Balustrade Staircase 
Kit with 1 x 1.155m post, baseplate 

and skirt and 1 x 1.2m post, 
baseplate and skirt

(Bolts to fix baseplates to whatever 
the Fence is standing on will need to 

be sourced yourselves)



Description Dimensions

1 x 1.155m post with cap 1155mm x 70mm x 70mm
1 x  Balustrade Handrails (4x Tbrackets, screws and 1730mm x 45mm x 45mm

KIT-B3-GLASS (Also available for 
Staircase)

4 x 

Set of rubber Grommets 
(Top+Bottom+Left+Right)Kit of 4. For fitting 

glass N/A

1 x 
Baseplate and Bolts (4 x M8x80 Screws For 

Baseplate to Post) 130mm x 130mm x 10mm

1 x Baseplate Skirt 130mm x 130mm x 21mm
2 x 983mm Insert N/A
2 x 55mm Insert N/A

2 x 1.2m Insert N/A

Description Dimensions

5 x 
Balustrade Spindles 100% FSC in Charcoal, 

Coffee or Grey 955mm x 50mm x 30mm

1 x Balustrade Gate Frame 1045mm x 884mm 

F-LTCH 1 x Gate Latch - Single Entry

Description Dimensions

F-HEXBRAK 1 x Hexagon Bracket for Angled Balustrades

F-BPKIT 1 x Baseplate to post with Fixings ( 4 M8x80 Screws)

F-BPBAL 1 x 
Baseplate to post with Fixings ( 4 M8x80 Screws) 

with Skirt

F-BPF 1 x 
Stainless Steel Bolts M10x80 Hexagon Anchor 

Bolts (Fixing to concrete)
F-BPSK 1 x Post Skirt

F-BGCLIP 1 x 

Rubber Grommet Glass Clip for Balustrade 
installation with Glass (2-4 needed in a kit 

dependent on installation)
F-I20 1 x 20mm Insert
F-I55 1 x 55mm Insert
F-RI107.5 1 x 107.5mm Insert
F-RI118.4 1 x 118.4mm Insert
F-PI983 1 x 983mm Insert
F-PI1.155 1 X 1.155m Insert
F-PI1.2 1 X 1.2m Insert
F-TBRAK 1 x 90 Degree Fixed T Bracket and Screws
F-ABRAK 1 x 90 Degree Angled Bracket and Screws

Components in the kit

Glass to be sourced at approx. 
10mm toughened, laminated glass, 
968mm top to bottom rail, 1.73m in 

length but we recommend a gap 
either end and in the middle, for 

airflow.

Balustrade for Glass with Rubber 
Grommet plus 1.155m Post, 

Baseplate and Skirt

(Bolts to fix baseplates to whatever 
the Fence is standing on will need to 

be sourced yourselves)

Additional Items
Components in the kit

Components in the kit

 KIT-BG-CHCL/COFF/LGRY - 1.1m x 
0.884m Balustrade Gate Kit (Posts, 

Inserts and Latch Sold Seperately - 2 
Posts and Inserts with 1 latch 

needed per gate


